_ Chinese ng monnder TAepren

E&. ,‘\ e g“""' C“"""y gu:‘— Tiv C—-&!Cc_!li A Cerfesn Aumber ) vakpet7,
bohen dieked by 3 e pemuinder 1§ 2, Ula dpvided b7 1 e perrprde D 3
A ke epviled by 1 He remninderit 2, What jsfhe frumbel 7

ﬂ‘h I &Sk}? vy 7o Solve ¢

X z zmed3
Xz 3medj
xz 2 twd

The Chinese Remidke Theomn Stat=s #42 hesa Unigre Sl

i et My M, n, be Poic 13E relaly\rc!y prime -‘14743 &,‘\"q1_’ NP
by eey c'lt;—?_uj‘ 'ﬂy\[/ I\’J N L&g%d&"_] olupi1va ﬂw’*‘[o Mz M, M - P,

X Z 4, Mﬂ“[‘“l
X = a, mod My
xi:= Ra mad #1s
The Pfﬂ"f’ 1) Cors frve LNE, \b¥— Pfo.nzhstf’tv. Sl
L@f Fes) Vk 21, T . N d‘-{‘i"hb MK - M ‘ﬂ,‘;,,‘) MK < ﬁ\-r{f /W, Ihwu'l\a/ﬂ'b,
M
Lt me. Sinee gedlmi m)zl o godlieMe) =] TR =

AT M: mod My

‘-rL‘V‘ )( z q M(M 4 QéM‘l yL t.- ”qn Mny,\ (,Motl I"l)
Thea by Cond Inabm

X ekt = 0 +0{ -+ A My, tO ¢ *O
z Q7! modm;
= ar V)



Thiv isver? Pormulniz. Len Fhmp aboubwhyrYsdove Wit The abowe geemple.

Ex: Selve x z 2 otz

Xz3 Mmds
x z Q md7,

Our Sohimr will Awe e Gorm

i e S N
Wewsp 3. . 2 o, = O whea md 3
2 Neda 3/a emh

X2 i o SRR £ DT e
wett 2 k2.3 sl med €
:7!\40{“{

X 225 . #3-3_-_ +2-35_

T Lot L L e S e L

=) Needa7
WS T L L 303 N LS Sy

peed 2.5-7-_ =2 when mag 3
=)  A=ed 355’ mods s mof3z= 2 2 mad 372

feed 337 = 3 wha tod §

=) N\ | .
ed A meds 2 mids = C mat g o

'\“‘tﬁl ,23.5'..__ =9\U}\,¢A MA(I?
> need 15 Tl agmdT | 1 ewd? 7l

o X2 R€T A +3-37 FL3504 = a33 = &3 mud 15§
Check l}mJgg_._g_*/ 'L'SMJSE’?_,‘/ T3med 7= 2 -



: v
(T #LS T = 4TS S6
’4 Lo
s 3¢ de-"? /
3Cmalt = ey
qr sd § 22 ;z'fn.uds-7 T B = g
go-.’tﬂ/l(/7 = r?

X=1.6-7-3 & 2-57
< 336

-

£ Zobmaf 2/0

Chak: 206 mds =

206 modb = 2

206 mad 2z 37



